

No. ARCS/DMN/149/2021-22/148

Dated: 13/12/2021

<u>ORDER</u>

In exercise of the powers vested under section 81(1) of the Maharashtra Co-operative Societies Act, 1960 as applied to erstwhile UT of Daman and Diu read with Rule 66(1) of the Co-operative Societies Rules 1962 and section 84(1) of the Gujarat Co-operative Societies Act, 1961 as applied to erstwhile UT of Dadra and Nagar Haveli read with Rule 37 of the Co-operative Societies Rules 1962, the Registrar of Co-operative Societies of Dadra & Nagar Haveli and Daman & Diu hereby constitutes panel of certified auditors for the purpose of audit of co-operative societies registered under the provisions of the aforesaid Acts and Rules for a period of three years i.e. for 2021-2022, 2022-2023 and 2023-2024.

List of certified auditors is as under:

1. Chartered Accountant / Chartered Accountant Firm

Sr.	Name of Auditors	Name of Auditors Address		E-mail id
No.				
1	SANJAY BADALA	104-105, Sunrise	9725287076	casanjaybadala@gmail.com
	& ASSOCIATES	Complex,	9004049516	
	(CA)	Telephone		
		exchange road,		
		GIDC Char Rasta,		
		Behind Indian		
		Bank, Vapi -		
		396195		

2	MANDHIR SINGH &	Shop No. 15,	9824502117	gaganvmc@gmail.com
2	ASSOCIATES (CA)	Ground Floor,	9824302117 9824302117	<u>gaganvine @ ginan.com</u>
	ABSOCIATES (CA)	Sanskruti CHS,	3024302117	
		Airport Road, Nani		
		Daman - 396210		
2			0925225272	administratil accus
3	A. D. RUPAREL	First Floor, Satadhar	9825235273	adruparel@gmail.com
	& CO. (CA)			
		Complex, Opp.		
		Ayurvedic		
		Hospital, Savjipara		
		Road, Nr.		
		Rajkamal Chok, Amreli - 365601		
4	AMIT JEEVAN &		9825406232	an amitia ann @ amail a am
4		2, Radhe Krishna	9825406252	ca.amitjeevan@gmail.com
	ASSOCIATES (CA)	Complex, Silvassa - 396230		
5	PATEL PUROHIT &	208-209, K. P.	9898069105	ca.patelpurohit@gmail.com
5	ASSOCIATES (CA)	Tower, Above	9898069105	ca.paterpuronit@gmail.com
	ASSOCIATES (CA)	Central Bank of	9373009103	
		India, Station Road,		
		Vapi (E) -396191		
6	C S AND CO LLP	303-A & 304-B,	9327719664	csandcollp@gmail.com
0	(CA)	Sagar House, Opp.	9974859777	<u>csandconp@gman.com</u>
	(CA)	GIDC Office Vapi	<i>331</i> 40 <i>33111</i>	
		Char Rasta		
		Vapi – 396195		
7	SHAP &	301, Deepkamal-1,	9586048187	shap.associates@gmail.com
	ASSOCIATES	Near Zoo	200010107	
	(CA)	Park, Sarthana		
	()	Jakatnaka,		
		Varachha Road,		
		Surat,		
		Gujarat		
		Surat – 395006		
8	MAHESH C.	Bunglow No. 19,	9429142963	yashraj392@gmail.com
	TAMAKUWALA &	Shree	7600470397	
	ASSOCIATES (CA)	Thakorjinagar,		
		Civil Hospital		
		Road, Nanakwada,		
		Valsad - 396001		
9	N. S. NANAVATI &	6, Shri Nivas,	9998962014	nanavatinitesh@gmail.com
	CO. (CA)	Ghanshyam		-
		Plot, Veraval, Dist.		
		Gir –		
		Somnath- 362265		

10	SKPJ &	S/9, Memnagar	8980320548	as rijethus @gmail.com
10	ASSOCIATES	S/9, Memnagar Complex, 2 nd Floor,	9727030107	ca.pjjethva@gmail.com
	(CA)	Opp. IOC Petrol	2121030101	
	(CA)	**		
		Pump, Mompagar		
		Memnagar,		
		Ahmedabad –		
11	CDUCUTI	380052	8460680684	amethics 14 Course 11 as
11	SRUSHTI	103, Shalibhadra	8460680684	srushtiv14@gmail.com
	HITESHBHAI VORA	Appartment,		
	(CA)	Mahavir Society,		
		Zaveri		
		Sadak,		
10	DDVC & COMPANY	Navsari – 396445 103, 1 st Floor,	000000000	askomal4@ushas.sam
12	DRKG & COMPANY		9898089964	cakomal4@yahoo.com
	(CA)	Corporate Avenue,	9879240828	
		Opp. Jain Temple,		
		Nr. Kailash Sweet,		
		Nanpura,		
12		Surat – 395001	0070051077	a a han illeh a tri Q a ma il
13	B.N. KAMOTHI &	Manisha Pujara	9879851277	cakapilkhatri@gmail.com
	CO. (CA)	Plot No. , Nr.	9974151277	
		Bhaktinagar		
		Society		
		Rajkot - 360002	0707717707	<u> </u>
14	SAMIR VORA &	Office No. Sa-8,	9727717795	auditsva2008@gmail.com
	ASSOCIATES (CA)	Solitare Business		
		Center Opp. DCB		
		Bank, Silvassa		
		Road, Vapi, Valsad		
		Gujarat		
15		Vapi - 396191	0228060227	
15	MAMTA RAJAN	B-301, Pramukh	9328069337	camamtagupta227@gmail.com
	GUPTA (CA)	Hills, Chharwada		
		Road Vapi,		
		Valsad, Gujarat		
16		Vapi - 396191	0005001072	ash she seilt 100 see 'l
16	ASHOK S. PARIKH	4, Mani. Shopping	9825091063	ashokparikh10@gmail.com
	& CO. (CA)	Bulding, First		
		Floor, Near		
		Ayurvedik		
		Hospital, Lal		
		Darwaja Road,		
17		Surat – 395003	7000012025	unch ant 202 Course 11
17	B. A. DESAI &	103, Khatri House,	7990012825	yashgst392@gmail.com
	ASSOCIATES (CA)	Opp. Heena		
		Arcade, GIDC,		
		Char Rasta, Vapi		
		Vapi – 396191		
L	1			

18	RPV & COMPANY	110, 1 st floor,	9904974447	rpvcompany@gmail.com
	(CA)	Zenon, opp. Unique		
		Hospital, Nr. BRTS		
		Jn., Nr. Sosyo		
		Circle, Surat – 395002		
19	R A DALMIA &	306, Empire State	9825212568	caradalmia@gmail.com
	ASSOCIATES (CA)	Building, Nr.	,	
		Udhana Darwaja,		
		Ring Road,		
•		Surat - 395002	0.400400466	
20	HITESH. P. KHANESHA & CO.	Opp. GIDC Gate, Street No. 2,	9428190466	hiteshkhanesha@gmail.com
	(CA)	Hanumanpara,		
		Amreli – 365601		
21	J. G. TOPIWAALA &	J-54, Ground Floor,	9825862982	jgtopiwala@yahoo.com
	CO. (CA)	Japan Textile		
		Market, Silver		
		Plaza Complex, Opp. Linear Bust		
		Stand,		
		Surat – 395003		
22	BHARAT &	201, 2 nd floor	9879240828	bharatnco@gmail.com
	COMPANY (CA)	Marcelo Business	9978640828	
		Coridor, Opp.		
		Khatu Shyam Mandir VIP Road,		
		Vesu,		
		Surat		
23	N. C. MAJITHIA &	Shop No. 18,	9824096369	nksmajithia@yahoo.com
	CO. (CA)	Indraprastha		
		complex, Opp. Naginawadi, Sumul		
		Dairy Road,		
		Surat – 395008		
24	N N LATHIGARA &	F-61, First Floor,	8980992018	neerali.soni9@gmail.com
	ASSOCIAES (CA)	Sardar Shopping	9426831269	
		Center, Jilla Panchayat Road,		
		Amreli – 365601		
25	KRUNAL K.	$G/2-36$, Samir, 3^{rd}	9824149151	krunaljariwala2009@gmail.com
	JARIWALA & CO.	Floor, Muktanand		
	(CA)	Complex,		
		Chodsiwadi Road,		
		Near Gujarat Gas Circle, Adajan,		
		Surat		

26	R. V. NADKARNI & CO. (CA)	305, Shri Jalaram complex, Near Development Credit bank, Silvassa Road, Char Rasta, Vapi – 396191	9824121604	<u>rvn_co@rediffmail.com</u>
27	K. S. BRAHMKSHTRIYA & CO. (CA)	2 nd Floor, Stadium Complex Above Havmor, Navrangpura, Ahmedabad – 380009	9825250669	ksbrahmkshatriya@yahoo.com
28	PANKAJ S. KHILOSIYA & CO. (CA)	111, Nishal Centre,Nr. Nishal Circle,Pal,Surat	9662834852 9662834852	<u>pankajkhilosiya@gmail.com</u>
29	M. K. VYAS & CO. (CA)	352, 3 rd Floor, Govinda complex, Char Rasta, NH-8, Vapi – 396195	9824147418	<u>manojdvyas@gmail.com</u>
30	VAIBHAVI ROHITKUMAR PATEL (CA)	Flat No. 8, First Floor, Alap Appartment, Zaver Nagar, Nr. SBI (Muktinagar Branch), Shktinath, Bharuch – 392001	9662044195	<u>cavaibhavipatel@gmail.com</u>
31	R. B. GOHIL & CO. (CA)	1 st Floor K.P Shah House-1 K. V Road Jamnagar – 361001	9426478227	rbgohil.gj@gmail.com
32	G. B. LADDHA & CO. LLP (CA)	HO:- 1-2, Second Floor, Sahara Market, Silvassa Raod, Vapi – 396191	8347744411 9687799199	audit@gbladdha.com
33	R K DOSHI & CO LLP (CA)	DoshiCorporateParkNearUtkarshSchoolOpp.SatnamHospitalAksharMargEndOff.AminMarg,Rajkot – 360001	9998156215	utsav@rkdoshi.com

2. Diploma in Co-op. Accounts or a Diploma in Co-operation and Accountancy

1	DILIP V. TAILOR	At & Po. Vyara,	9825508749	-
		Maliwad, Kanza Rd,		
		Nr. Jalaram Mandir,		
		Tapi – 394650		

Page 6

2	GANDHI	63, Hari Hari 9824594901 <u>bharat03gandhi@gmail.com</u>
	BHARATKUMAR	society, No-1, Nr.
	UTTAMRAM	Balashram,
		Keetargam, Surat – 1
3	MOGAL SIRAJ	At- varvada, Ta. 7984418266 <u>sirajkhan1968@gmail.com</u>
	KHAN SAHEB	Unjha, Dist. Mehsana
	KHAN	North Gujarat
		Mehsana

3. Employee Retried from Co-operation Department

1	J. D. MACWAN	12 Varian Nagar St	9426367551	
1	J. D. MACWAN	12, Xavier Nagar, St.	9420307551	jitumacwan@gmail.com
		Xavier Road,		
		Anand – 388001		
2	B. D. CHAVHAN	112, Marutinagar, Bh.	9428255939	-
		Guhai colony,		
		Himatnagar Dist.		
		Sabarkantha		
3	VASANTBHAI H.	B.No. 07, Sammrudhi	9825556792	-
	RAJPUT	Bunglows I, opp.		
		Shaligram Plus, Near		
		Shaligram Bunglows		
		Hotel Avlon Road,		
		Thalatej		
		Ahmedabad		
4	PATEL	J-201, Indraprashta-9,	9998478815	_
	SHANTIBHAI	Opp. Nishant	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	KHUSHALBHAI	Residency, Anand		
	KIIOSIII LDIII KI	Party Plot Road, New		
		Ranip, Ahmedabad -		
		382480		
5	J. D. PATEL	A/3, Pruthvi	7383837179	
3	J. D. PATEL		/30303/1/9	-
		Appartment, Hiravati,		
		Kirti Dughalay,		
		Bajarangbapa Ashram,		
		Thakarnagar, Sijpur,		
		Ahmedabad - 382345		
6	MR. S. F. TANDEL	B/8, Bhagyalaxmi	9979032299	sftandel383@gmail.com
		Society, Behind		
		Somnath Tample,		
		Billimora – 396321		
7	C. J. DAVE	B/5, Udaybhansinhji	9375809191	-
		College Campus,		
		Sector 30, Gandhinagar		
		- 382030		
8	H. M. SAIYAD	Fatima Manzil, Gren	7984945392	-
		Park-2, Nr. Masjid		
		Rehman, Bhagdavada,		
		Valsad - 396001		
L		v uisau - 570001	I	

This is issued with the approval of the Registrar of Co-operative Societies, Dadra & Nagar Haveli and Daman & Diu vide dairy No. 801765 dated 19/11/2021.

Sd/-(**Mohit Mishra**) Assistant Registrar, Co-operative Societies, Daman UT Administration of Dadra & Nagar Haveli and Daman & Diu, Co-operative Department, Office of the Assistant Registrar, Co-operative Societies, Collectorate, Moti Daman.

No. 1/9/2021-22/ARCS-DMN/158

Dated: 07/01/2022

CERTIFICATE OF REGISTRATION

The **"SHANTINIKETAN CO-OPERATIVE HOUSING MAINTENANCE SOCIETY LIMITED"**, Daman has been registered on 07/01/2022 and it bears the registration code symbol **No.1/9/2021-22/ARCS-DMN/158** and it is classified as **society under sub classification No. 5(a) in terms of Rule 9** of the Co-operative Societies, Rules 1962 applicable for the Union Territory of Daman & Diu.

> Sd/– (GAURAV SINGH RAJAWAT) REGISTRAR, CO-OPERATIVE SOCIETIES DNH & DD

Place: Daman Dated: 07/01/2022

NOTIFICATION

In exercise of the powers vested in me under section 9 (1) of the Maharashtra Co-operative Societies, Act 1960 as applied to the Union Territory of Daman & Diu, "SHANTINIKETAN CO-OPERATIVE HOUSING MAINTENANCE SOCIETY LIMITED", Daman is Registered under No. 1/9/2021-22/ARCS-DMN/158 on 07/01/2022.

Sd/– (GAURAV SINGH RAJAWAT) REGISTRAR, CO-OPERATIVE SOCIETIES DNH & DD

Place: Daman Dated: 07/01/2022

U.T. Administration of Dadra & Nagar Haveli and Daman & Diu, Department of Personnel & Administrative Reforms, Secretariat, Daman

No.PHQ/Est-I/CSS Phase-I/2011/113

Dated: 18/01/2022

NOTIFICATION

In exercise of the powers conferred by the proviso to Article 309 of the constitution, with Government of India, Ministry of Home Affairs, Order No.7/1/65-Estt.(A), dated 16th February, 1965 and Ministry of Home Affairs Notification No.3(4)/65-GP, dated 27th January, 1965 read with Department of Personnel and Training Notification No.39023/02/2015-Estt(B), dated 25th May, 2017 and in supersession of the existing Recruitment Rules for the posts and all other powers enabling him in this behalf, the Administrator of UT of Dadra and Nagar Haveli and Daman and Diu and hereby makes the following rules relating to the recruitment rules relating to the recruitment of General Central Services, Groups 'B' (Non-Gazetted/Non Ministerial) posts of **Skipper Mate (Sub-Inspector)** in the Police Department, Administration of Dadra and Nagar Haveli and Daman and Diu namely.

1. Short title, application and commencement :

- (i) These rules may be called the Administration of Dadra and Nagar Haveli and Daman and Diu, Group 'B' (Non-Gazetted/Non-Ministerial) posts of Skipper Mate (Sub-Inspector) Recruitment Rules, 2022.
- (ii) These rules shall apply to the posts specified in column 1 of the Schedule to these rules (hereinafter called the said schedule).
- (iii) These rules will come into effect from the date of publication of this notification in the Official Gazette and will relate to appointment to the various posts made on or after this date.
- 2. <u>Number, classification and level of Pay Matrix:-</u> The number of posts, classification and the level of pay matrix attached thereto shall be as specified in columns 2 to 4 of the Schedule annexed to these rules.

Provided that, the Administrator of Dadra and Nagar Haveli and Daman and Diu may vary the number of posts in Column 2 of the said Scheduled from time to time subject to exigencies of work.

3. <u>Method of recruitment, age limit and other qualification etc.</u>: The methods of recruitment to the said posts, age limit, qualification and other matters connected there with shall be as specified in Columns 5 to 13 of the aforesaid schedule.

4. Disqualification :

No person (a) who has entered into or contracted a marriage with a person having a spouse, living or (b) who, having a spouse living, has entered into or contracted a marriage with any person, shall be eligible for appointment to the service.

Provided that the Administrator of Dadra and Nagar Haveli and Daman and Diu, may, if satisfied that such marriage is permissible under the personal law applicable to such person and the other party to the marriage and that there other grounds for so doing, exempt any person from the operation of this rule.

5. Power to relax :

Where the Administrator of Dadra and Nagar Haveli and Daman and Diu is of the opinion that, it is necessary or expedient so to do it may, by order, and for reasons to be recorded in writing, relax any of the provisions of these rules with respect to any class or category of persons.

6. Saving :

Nothing in these rules shall affect reservations, relaxation of age limit and other concessions required to be provided for Scheduled Castes, Scheduled Tribes, Other backward Class, Ex-Servicemen and other special of persons in accordance with the orders issued by Central Government from time to time in this regard.

By order and in the name of the Administrator of Dadra and Nagar Haveli and Daman and Diu

Sd/-(Jatin Goyal) Director-cum-Deputy Secretary (Pers.)

Annexure-I

RECRUITMENT RULES FOR SKIPPER MATE (SUB-INSPECTOR) DADRA AND NAGAR HAVELI AND DAMAN AND DIU SCHEDULE

Name of No. of Post posts	Classification	Level in the Pay Matrix	Whether selection or non- selection post	Age limit for direct recruitment	Educational & other qualification required for direct recruits
1 2	3	4	5	6	7
Skipper 04 (2022) Mate Subject to (Sub- variation Inspector) dependent on workload.	General Central Services Group 'B' (Non Gazetted / Non Ministerial)	Level-6 in the Pay Matrix (Rs.35400- 112400)	Selection	Not exceeding 30 years. (Relaxable for Government Servant upto 5 years in accordance with the instructions or orders issued by the Central Government) (Not exceeding 50 years in case of Ex-Serviceman i.e. re- employment) <u>Note:-</u> The crucial date for determining the age limit shall be the closing date for receipt of applications from the candidates in India and not the closing date prescribed for those in Assam, Meghlaya, Arunachal Pradesh, Mizoram, Manipur, Nagaland, Tripura, Sikkim, Ladakh Division of J&K State, Lahaul & Spiti District and Pangi Sub- division of Chamba District of Himachal Pradesh, Andaman & Nicobar Island or Lakshadweep.	 Essential:- i) 10th passed from recognized Board. ii) Possess certificate of competency as "Skipper of Fishing Vessel, Grade-III" issued by Mercantile Marine Department (MMD). iii) Have sea experience of five years in the registered firm after obtaining the Skipper Grade-III certificate issued by Mercantile Marine Department (MMD). OR Ex. Petty Officer from Indian Navy with minimum 6 Years of regular Service OR Ex. Chief Petty Officer from Indian Navy OR Ex. Pradhan Navik from Indian Coast Guard with minimum 6 years of regular Service OR Ex. Adhikari from Indian Coast Guard. Age should not exceed 50 years. Physical :- Sound health, free from bodily defects/deformities. Vision both eye 6/6 (without glass). No colour blindness. Height: - Not less than 157 cms for male and 152 cms for female. Chest Measurement:- 80 cms normal minimum. The expanded chest reading should be 5 cms more than the normal chest reading (applicable for males only). Expected to be responsible for overall charge of the vessel, drive, Handle the boat, maintain its engine and conduct patrolling on the coast line.

SERIES – II No. 06

Whether age and Educational qualification prescribed for direct recruits will apply in the case of promotes.	Period of probation, if any	Method of recruitment whether by direct recruitment of by promotion or by deputation/absorption & % of the posts to be filled by various method		If a DPC exists what is its composition	Circumstances in which UPSC to be consulted in making recruitment
8	9	10	11	12	13
Not Applicable	Two Years	50 % by Promotion failing which by deputation and, 50% By direct recruitment /Re-employment.	 Promotion:- Sukhani (Asst. Sub-Inspector) with 6 years regular service in Level-5 in the Pay Matrix (29,200-92,300). 1. <u>Deputation:-</u> i) Officer of the Central Government (or the Central Government /State Government or Union territories) (a)(i)Holding analogous post in Pay Matrix Level-6 (Rs. 35400-112400) on a regular basis in the parent cadre or department or (ii) With 06 (six) years service rendered after appointment thereto on a regular basis in the Level-5 of the Pay Matrix (Rs.29,200-92,300) in the parent cadre or department; 2. Possessing the educational qualifications and experience prescribed for direct recruits under Column (7). 	 DNH-Chairman 2. Finance Secretary, DD and DNH-Member 3. Secretary of concerned Department, DD and DNH -Member 4. Deputy/Joint Secretary (Pers), Daman/DNH -Member 5. Head of Office concerned, 	Not Applicable

Sd/-

(Jatin Goyal) Director-cum-Deputy Secretary (Pers.) DNH & DD

U.T. Administration of Dadra & Nagar Haveli and Daman & Diu, Department of Personnel & Administrative Reforms, Secretariat, Daman

No.PHQ/Est-I/CSS Phase-I/2011/114

Dated: 18/01/2021

NOTIFICATION

In exercise of the powers conferred by the proviso to Article 309 of the constitution, with Government of India, Ministry of Home Affairs, Order No.7/1/65-Estt.(A), dated 16th February, 1965 and Ministry of Home Affairs Notification No.3(4)/65-GP, dated 27th January, 1965 and in supersession of the existing Recruitment Rules for the posts and all other powers enabling him in this behalf, the Administrator of UT of Dadra and Nagar Haveli and Daman and Diu and hereby makes the following rules relating to the recruitment rules relating to the recruitment of General Central Services, Groups 'C' (Non-Gazetted/Non Ministerial) posts of **Sukhani (Assistant Sub-Inspector)** in the Police Department, Administration of Dadra and Nagar Haveli and Daman and Diu namely.

1. <u>Short title, application and commencement:</u>

- (i) These rules may be called the Administration of Dadra and Nagar Haveli and Daman and Diu, Group 'C' (Non-Gazetted/Non-Ministerial) posts of Sukhani (Assistant Sub-Inspector) Recruitment Rules, 2021.
- (ii) These rules shall apply to the posts specified in column 1 of the Schedule to these rules (hereinafter called the said schedule).
- (iii) These rules will come into effect from the date of publication of this notification in the Official Gazette and will relate to appointment to the various posts made on or after this date.
- 2. <u>Number, classification and level of Pay Matrix:-</u> The number of posts, classification and the level of pay matrix attached thereto shall be as specified in columns 2 to 4 of the Schedule annexed to these rules.

Provided that, the Administrator of Dadra and Nagar Haveli and Daman and Diu may vary the number of posts in Column 2 of the said Scheduled from time to time subject to exigencies of work.

3. <u>Method of recruitment, age limit and other qualification etc.</u>: The methods of recruitment to the said posts, age limit, qualification and other matters connected there with shall be as specified in Columns 5 to 13 of the aforesaid schedule.

4. **Disqualification:**

No person (a) who has entered into or contracted a marriage with a person having a spouse, living or (b) who, having a spouse living, has entered into or contracted a marriage with any person, shall be eligible for appointment to the service.

Provided that the Administrator of Dadra and Nagar Haveli and Daman and Diu, may, if satisfied that such marriage is permissible under the personal law applicable to such person and the other party to the marriage and that there other grounds for so doing, exempt any person from the operation of this rule.

5. <u>Power to relax :</u>

Where the Administrator of Dadra and Nagar Haveli and Daman and Diu is of the opinion that, it is necessary or expedient so to do it may, by order, and for reasons to be recorded in writing, relax any of the provisions of these rules with respect to any class or category of persons.

6. Saving :

Nothing in these rules shall affect reservations, relaxation of age limit and other concessions required to be provided for Scheduled Castes, Scheduled Tribes, Other backward Class, Ex-Servicemen and other special of persons in accordance with the orders issued by Central Government from time to time in this regard.

By order and in the name of the Administrator of Dadra and Nagar Haveli and Daman and Diu

Sd/-(Jatin Goyal) Director-cum-Deputy Secretary (Pers.)

Annexure-I

RECRUITMENT RULES FOR SUKHANI (ASSISTANT SUB-INSPECTOR) DADRA AND NAGAR HAVELI AND DAMAN AND DIU SCHEDULE

Name of Post	Number of posts	Classification	Level in the Pay Matrix	Whether selection or non- selection post	Age limit for direct recruitment	Educational & other qualification required for direct recruits
1	2	3	4	5	6	7
Sukhani (Assistant Sub- Inspector)	08 (2022) Subject to variation dependent on workload	General Central Services Group 'C' Non Gazetted, Non Ministerial	Level-5 in the Pay Matrix (29200- 92300)	Not applicable	Not exceeding 27 years. (Relaxable for Government servant upto 5 years in accordance with the instructions or orders issued by the Central Government) (Not exceeding 50 years in case of Ex-Serviceman i.e. re- employment) <u>Note:-</u> The crucial date for determining the age limit shall be the closing date for receipt of applications from the candidates in India and not the closing date prescribed for those in Assam, Meghlaya, Arunachal Pradesh, Mizoram, Manipur, Nagaland, Tripura, Sikkim, Ladakh Division of J & K state, Lahaul & Spiti District and Pangi Sub-division of Chamba District of Himachal Pradesh, Andaman & Nicobar Island or Lakshadweep.	 Uttam Navik from Indian Coast Guard with 5 Years of regular Service OR Ex. Pradhan Navik from Indian Coast Guard. Age should not exceed 50 years. <u>Physical :-</u> Sound health, free from bodily defects/deformities. Vision both eye 6/6 (without glass). No colour blindness. <u>Height: -</u> Not less than 157 cms for male and 152 cms for female. <u>Chest Measurement:-</u> 80 cms normal minimum. The expanded chest reading should be 5 cms more than the normal chest reading (applicable for males only).

Whether age and Educational qualification prescribed for direct recruits will apply in the case of promotes.	Period of probation if any	Method of recruitment whether by direct recruitment of by promotion or by deputation/absorption & % of the posts to be filled by various method	Incaserecruitmentbypromotion/deputation/absorptiongradesfromwhichpromotion/deputation/absorptiontobemade		Circumstances in which UPSC to be consulted in making recruitment
8	9	10	11	12	13
Not Applicable	Two Years	100% Direct recruitment/Re-employment or deputation.	 Deputation:- Officer of the Central Government (or the Central Government /State Government or Union territories) 	 DNH-Chairman 2. Finance Secretary, DD and DNH-Member 3. Secretary of concerned Department, DD and DNH -Member 4. Deputy/Joint Secretary (Pers), Daman/DNH -Member 5. Head of Office concerned, Daman/DNH -Member 6. 1 (one) additional member to be nominated by the Chairman of DSC/DPC/Screening Committee- 	Not Applicable

Sd/– (**Jatin Goyal**) Director-cum-Deputy Secretary (Pers.) DNH & DD

U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU, REVENUE DEPARTMENT, COLLECTORATE, DAMAN.

No. 3/107/LND-ACQ/2021-22/504

Dated: 25/01/2022

Notification of the Social Impact Assessment [See Section 4 & Sub section 3]

Whereas, the Government intends to acquire the following land for Acquisition of land for Pedestrian Bridge Approach at Moti Daman with the concerned Panchayat/Municipality/Municipal Corporation, as the case may be, at Daman, in the affected area and carry out a Social Impact Assessment Study for public purpose. The study shall be undertaken as per the provision as section 4 of the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013.

1	Project Developer	••	The Public Work Department, Daman
2	Brief Description about	:	Acquisition of land for Pedestrian Bridge Approach at Moti
	purpose of proposed		Daman.
	acquisition of land		
3	Extend of land to be	:	PTS No.62/1 admeasuring 820.00 Sq.mts at Moti Daman
	acquired		of Rajubhai Devjibhai Bhathela.
4	Project Area to be covered	:	Total admeasuring area 820.00 Sq.mtrs. as it is required for
	under S.I.A.		the project of Acquisition of land for Pedestrian Bridge
			Approach at Moti Daman.
5	Affected Area to be covered	:	Yes
	under S.I.A.		105

Social Impact Assessment Activities:

1	Consultations	:	With stake holders of the proposed area including Municipality/ Panchayat.
2	Survey (organization undertake the study)	:	Mamlatdar, Daman & Enquiry Officer, City Survey, Daman will complete survey of the proposed area under acquisition within two months from the date of publication of this Notification.
3	Public hearing/s	:	S.I.A. Unit will decide the time and place for public hearing before submitting S.I.A. report.
4	Time line	:	S.I.A. report and S.I. Management Plan should be completed within two month from the date of issuance of this Notification and to be published on the notice board of Collectorate, Daman and concerned Panchayat area.

If any attempt of coercion or threat is noticed/brought to notice, the same will render this exercise null and void.

The contact information of the Social Impact Assessment Unit:

Office of the S.I.A. Unit, C/o. Collector, Daman. Collectorate, Dholar, Moti Daman – 396 220. Phone No. 2230698.

> Sd/– (**Tapasya Raghav**) Collector, Daman

U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU REVENUE DEPARTMENT, COLLECTORATE, DAMAN.

No. 3/59/2019/LND-ACQ/2018-19/611

Dated: 31/01/2022

NOTICE

WHEREAS, vide Preliminary Notification No. 3/59/2019/LND-ACQ/2018-19/1905 dated 29/04/2021, it was Notified under section 11 of the Right to Fair compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, that the land described in the schedule hereto (thereafter referred to as the said land/lands) were needed or likely to be needed for the public purpose, namely for the purpose of Shamsan Bhumi to Chhapli Sheri, Nani Daman (*21.00 Mtrs Wide*) for Development of Sea Front Road and Beautification of Devka Beach, Nani Daman.

WHEREAS, a report was submitted to the Government Authority i.e. Administrator of Dadra & Nagar Haveli and Daman & Diu for the proceed with acquisition process and the same has been approved by the Appropriate Government i.e. Administrator of Dadra & Nagar Haveli and Daman & Diu.

WHEREAS, vide Declaration No. 3/59/2019/LND-ACQ/2018-19/5469 dated 19/11/2021, it was declared under the provision of Section 19 of the Land Acquisition, Rehabilitation Act that the said lands are required for the public purpose, and namely for the purpose of Shamsan Bhumi to Chhapli Sheri, Nani Daman (21.00 Mtrs Wide) for Development of Sea Front Road and Beautification of Devka Beach, Nani Daman.

WHEREAS, in connection with acquisition of land admeasuring 1188.00 sq. mtrs. for Shamsan Bhumi to Chhapli Sheri, Nani Daman (21.00 Mtrs Wide) for Development of Sea Front Road and Beautification of Devka Beach, Nani Daman, the Administration of Daman intends to take possession of the land, the particulars of which are given in the declaration u/s 19(1) of the Right to Fair compensation & Transparency in Land Acquisition Rehabilitation and Resettlement (RFCTLARR) Act, 2013.

WHEREAS, under Section 21 of the RFCTLARR Act, 2013, the Government intend to take possession of the land on 02/03/2022 at 10.00 hrs., and claims to compensations and rehabilitation and resettlement for all interests in the land, has to be submitted to the Collector for disposal on or before 02/03/2022 at 15.00 hrs.

The details compensation on the land acquisition as per the Annexure -I, II & III are enclosed herewith.

WHEREAS, under sub section (1) & (2) of Section 22 of the said Act, the Collector may also require any such person to make or deliver to him a statement containing the name of every other

person possessing any interest in the land or any part thereof as co-proprietor, sub-proprietor, mortgage, tenant or otherwise, and of the nature of such interest, and of the rents and profits, if any received or receivable on account thereof for three years next preceding the date of statement, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 176 of the Indian Penal Code (45 of 1860).

NOW THEREFORE, to facilitate causation of the above requirements, public notice is hereby served under section 21 of the RFCTLARR Act, 2013 that all persons having interest in the said land to appear personally or by agent or advocate before the Collector, Daman on <u>07/03/2022</u> at **11:00A.M.** and to state in writing and signed by the party or his agent, the following :

- a) The nature of their respective interest in their land;
- b) The amount and particulars of their claims to compensation for such interests;
- c) Their objection if any to the measurements made and marked on the referred area.

Please take notice that as provided under sub section 22 of the aforesaid Act, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 178 of the Indian Penal Code (45 of 1860)

Sd/– (**Tapasya Raghav**) Collector, Daman

				ANNEXUF	RE – I		ic						
Details	s compensatio	on of land for F	Revised Acquisition of land from Shamsa	an Bhumi to (Chhapli Sheri Nani	Daman (21.00 M	trs. wide) for Dev	elopment of	Sea Front Road				
	and Beautification of Devka Beach, Nani Daman												
Sr. No.	P.T.S No. Sub–Div No./ Chalta No.	Area of land acquisition in (Sq.Mtrs.)	Name of persons believed to be having interest	Class of land	Market value @ 100 Sq.Mtrs. for Nani Daman Rs.265900/- N.A. Land	Multiplication Factor 1	Solatium 100% on Multiplication value of land	additional Amout @ 12%	Total compensation on land (7+8+9 = 10)				
1	2	3	4	5	6	7	8	9	10				
1	21/7	63.00	Bharatkumar Gopalbhai Tandel	N.A.	167517.00	167517.00	167517.00	0.00	335034.00				
2	21/27	14.00	Shri Jivanbhai Naranbhai Tandel	N.A.	37226.00	37226.00	37226.00	0.00					
3	21/28-C	45.00	Smt. Vijiyaben Premabhai Tandel Shri Manish Premabhai Tandel Shri Girish Premabhai Tandel	N.A.	119655.00	119655.00	119655.00	0.00					
4	21/42-A	65.00	Shri Vishnubhai Harjibhai Gona Shri Sanjay Haribhai Tandel	N.A.	172835.00	172835.00	172835.00	0.00	345670.00				
5	21/42-B	42.00	Ramanbhai Haribhai Tandel	N.A.	111678.00	111678.00	111678.00	0.00	223356.00				
6	22/1-A	35.00	Shri Kanjibhai Bhagwanbhai Tandel	N.A.	93065.00	93065.00	93065.00	0.00	186130.00				
7	22/34-A	84.00	Shri Kanjibhai Keshavbhai Tandel	N.A.	223356.00	223356.00	223356.00	0.00					
8	31/65-A	14.00	Smt. Benaben Bhulabhai Tandel	N.A.	37226.00	37226.00	37226.00	0.00	74452.00				
9	31/32-B	145.00	Smt. Paliben Fakirbhai Tandel	N.A.	385555.00	385555.00	385555.00	0.00	771110.00				
10	31/33-A	202.00	Rucmani Bula, Vijay Mita, Naresh Mita,Yogesh Mita	N.A.	537118.00	537118.00	537118.00	0.00	1074236.00				
11	31/33-B	120.00	Shri Kalan Jogi Tandel	N.A.	319080.00	319080.00	319080.00	0.00	638160.00				
12	31/54-B	18.00	Shri Parshottam Laxman Tandel	N.A.	47862.00	47862.00	47862.00	0.00	95724.00				
13	46/6	240.00	Shree Bathi Sheri Machhi Samaj Daman	N.A.	638160.00	638160.00	638160.00	0.00	1276320.00				
14	46/19	3.00	Kika Devji	N.A.	7977.00	7977.00	7977.00	0.00	15954.00				
15	46/20	4.00	Govind Devji	N.A.	10636.00	10636.00	10636.00	0.00	21272.00				
16	46/18-A		Dhiraj Madou, Jagdish Madou, Bhupendra Madou	N.A.	13295.00	13295.00	13295.00	0.00	26590.00				

SERIES – II No.	. 06
-----------------	------

18		80.00 1188.00	Daman Total	N.A.	212720.00 3158892.00		212720.00 3158892.00		425440.00 6317784.00
10	46/30	00.00	Shree Parkota Sheri Machhi Samaj,						
17		9.00	Harish Jogi Tandel, Pankesh Jogi Tandel	N.A.	23931.00	23931.00	23931.00	0.00	47862.00
	46/18		Parvati Jogi, Rajesh Jogi Tandel,						

Sd/– भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

Page 20

			_		4	ANNEXUF	<u>RE - II</u>					
	Details	compensation of land for Develo						mi to Chhapli Devka Beach			0 Mtrs. wide)	for
Sr. No.	Survey No. Sub–Div No./ Chalta No.	Name of persons believed to be having interest	Type of trees	No. of Trees	Rate	Total	Type of structure	Total Compensatio n of stucture	Compen sation of Trees	Total Compensatio n	Solatium 100%	Total Compensatio n
1	2	3	4	5	6	7	8	9	10	11	12	13
1	21/7	Bharatkumar Gopalbhai Tandel	-	-	-	-	House (G+1)	1550103.00	-	1550103.00	1550103.00	3100206.00
2	21/27	Shri Jivanbhai Naranbhai Tandel	-	-	-	-	-	-	-	0.00	0.00	0.00
3	21/28-C	Smt. Vijiyaben Premabhai Tandel Shri Manish Premabhai Tandel Shri Girish Premabhai Tandel	-	-	-	-	-	-	-	0.00	0.00	0.00
4	21/42-A	Shri Vishnubhai Harjibhai Gona Shri Sanjay Haribhai Tandel	-	-	-	-	Godown	210326.00	-	210326.00	210326.00	420652.00
5	21/42-B	Ramanbhai Haribhai Tandel	-	-	-	-	Godown	125475.00	-	125475.00	125475.00	250950.00
6		Shri Kanjibhai Bhagwanbhai Tandel	-	-	-	-	House (GF)	349974.00	-	349974.00	349974.00	699948.00
7	22/34-A	Shri Kanjibhai Keshavbhai Tandel	-	-	-	-	Godown	431358.00	-	431358.00	431358.00	862716.00

Total 4820559.00 - 4820559.00 9641118.00 Sd/-												
18		Shree Parkota Sheri Machhi Samaj, Daman	-	-	-	-	Communit y Hall	672000.00	-	672000.00	672000.00	1344000.00
17		Parvati Jogi, Rajesh Jogi Tandel, Harish Jogi Tandel, Pankesh Jogi Tandel	-	-	-	-	Compound & Toilet Room	26373.00	-	26373.00	26373.00	52746.00
16		Dhiraj Madou, Jagdish Madou, Bhupendra Madou	-	-	-	-	House (GF- shed) & Toilet	38596.00	-	38596.00	38596.00	77192.00
15	46/20	Govind Devji	-	-	-	-	House (G+1)	60656.00	-	60656.00	60656.00	121312.00
14	46/19	Kika Devji	-	-	-	-	House (GF- shed) & Toilet	32184.00	-	32184.00	32184.00	64368.00
13	46/6	Shree Bathi Sheri Machhi Samaj Daman	-	-	-	-	House (GF)	781788.00	-	781788.00	781788.00	1563576.00
12	31/54-B	Shri Parshottam Laxman Tandel	-	-	-	-	-	-	-	0.00	0.00	0.00
11	31/33-B	Shri Kalan Jogi Tandel	-	-	-	-	-	-	-	0.00	0.00	0.00
10	31/33-A	Rucmani Bula, Vijay Mita, Naresh Mita,Yogesh Mita	-	-	-	-	-	-	-	0.00	0.00	0.00
9	31/32-B	Smt. Paliben Fakirbhai Tandel	-	1	-	-	House (GF) & Toilet	246748.00	-	246748.00	246748.00	493496.00
8	31/65-A	Smt. Benaben Bhulabhai Tandel	-	-	-	-	House (G+1)	294978.00	-	294978.00	294978.00	589956.00

भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

Page 22

						•
		A	NNEXURE - III			
Details	compensation of land for Revised A Mtrs. wide) for Development o				An of a second field of the second of a strategy of the second field of	concercition and account of the second second
Sr. No.	Name of persons believed to be having interest	Survey No. Sub–Div No./	Area of land acquisition in (Sq.Mtrs.)	Land Value	Assets Value	Total
1	2	3	4	5	6	8
1	Bharatkumar Gopalbhai Tandel	21/7	63.00	335034.00	3100206.00	3435240.00
2	Shri Jivanbhai Naranbhai Tandel	21/27	14.00	74452.00	0.00	74452.00
3	Smt. Vijiyaben Premabhai Tandel Shri Manish Premabhai Tandel Shri Girish Premabhai Tandel	21/28-C	45.00	239310.00	0.00	239310.00
4	Shri Vishnubhai Harjibhai Gona Shri Sanjay Haribhai Tandel	21/42-A	65.00	345670.00	420652.00	766322.00
5	Ramanbhai Haribhai Tandel	21/42-B	42.00	223356.00	250950.00	474306.00
6	Shri Kanjibhai Bhagwanbhai Tandel	22/1-A	35.00	186130.00	699948.00	886078.00
7	Shri Kanjibhai Keshavbhai Tandel	22/34-A	84.00	446712.00	862716.00	1309428.00
8	Smt. Benaben Bhulabhai Tandel	31/65-A	14.00	74452.00	589956.00	664408.00
9	Smt. Paliben Fakirbhai Tandel	31/32-B	145.00	771110.00	493496.00	1264606.00
10	Rucmani Bula, Vijay Mita, Naresh Mita,Yogesh Mita	31/33-A	202.00	1074236.00	0.00	1074236.00
11	Shri Kalan Jogi Tandel	31/33-B	120.00	638160.00	0.00	638160.00

12	Shri Parshottam Laxman Tandel	31/54-B	18.00	95724.00	0.00	95724.00
13	Shree Bathi Sheri Machhi Samaj Daman	46/6	240.00	1276320.00	1563576.00	2839896.00
14	Kika Devji	46/19	3.00	15954.00	64368.00	80322.00
15	Govind Devji	46/20	4.00	21272.00	121312.00	142584.00
16	Dhiraj Madou, Jagdish Madou, Bhupendra Madou	46/18-A	5.00	26590.00	77192.00	103782.00
17	Parvati Jogi, Rajesh Jogi Tandel, Harish Jogi Tandel, Pankesh Jogi Tandel	46/18	9.00	47862.00	52746.00	100608.00
18	Shree Parkota Sheri Machhi Samaj, Daman	46/30	80.00	425440.00	1344000.00	1769440.00
	Total		1188.00	6317784.00	9641118.00	15958902.00

Sd/– भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

U.T. ADMINISTRATION OF DADRA & NAGAR HAVELI AND DAMAN & DIU REVENUE DEPARTMENT, COLLECTORATE, DAMAN.

No.3/89/LND-ACQ/2020-21/643

Dated: 01/02/2022

<u>NOTICE</u>

WHEREAS, vide Preliminary Notification No. 3/89/LND-ACQ/2020-21/2960 dated 10/06/2021, it was Notified under section 11 of the Right to Fair compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013, that the land described in the schedule hereto (thereafter referred to as the said land/lands) were needed or likely to be needed for the public purpose, namely for the purpose for Development of Transport Nagar at Village Bhimpore, Nani Daman.

WHEREAS, a report was submitted to the Government Authority i.e. Administrator of Dadra & Nagar Haveli and Daman & Diu for the proceed with acquisition process and the same has been approved by the Appropriate Government i.e. Administrator of Dadra & Nagar Haveli and Daman & Diu.

WHEREAS, vide Declaration No. 3/89/LND-ACQ/2020-21/39 dated 04/01/2022, it was declared under the provision of Section 19 of the Land Acquisition, Rehabilitation Act that the said lands are required for the public purpose, and namely for the purpose of for Development of Transport Nagar at Village Bhimpore, Nani Daman.

WHEREAS, in connection with acquisition of land admeasuring 67908.00 sq. mtrs. for **Development of Transport Nagar at Village Bhimpore, Nani Daman,** the Administration of Daman intends to take possession of the land, the particulars of which are given in the declaration u/s 19(1) of the Right to Fair compensation & Transparency in Land Acquisition Rehabilitation and Resettlement (RFCTLARR) Act, 2013.

WHEREAS, under Section 21 of the RFCTLARR Act, 2013, the Government intend to take possession of the land on 02/03/2022 at 10.00 hrs., and claims to compensations and rehabilitation and resettlement for all interests in the land, has to be submitted to the Collector for disposal on or before 02/03/2022 at 15.00 hrs.

The details compensation on the land acquisition as per the Annexure -I, II & III are enclosed herewith.

WHEREAS, under sub section (1) & (2) of Section 22 of the said Act, the Collector may also require any such person to make or deliver to him a statement containing the name of every other person possessing any interest in the land or any part thereof as co-proprietor, sub-proprietor, mortgage, tenant or otherwise, and of the nature of such interest, and of the rents and profits, if any

received or receivable on account thereof for three years next preceding the date of statement, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 176 of the Indian Penal Code (45 of 1860).

NOW THEREFORE, to facilitate causation of the above requirements, public notice is hereby served under section 21 of the RFCTLARR Act, 2013 that all persons having interest in the said land to appear personally or by agent or advocate before the Collector, Daman on <u>08/03/2022</u> at **11:00 A.M.** and to state in writing and signed by the party or his agent, the following :

- a) The nature of their respective interest in their land;
- b) The amount and particulars of their claims to compensation for such interests;
- c) Their objection if any to the measurements made and marked on the referred area.

Please take notice that as provided under sub section 22 of the aforesaid Act, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 178 of the Indian Penal Code (45 of 1860).

Sd/– (**Tapasya Raghav**) Collector, Daman

					NEXURE – I				
<u> </u>	•		Details compensation of land for De	velopmen	t of Transport Nagar a	t Village Bhimpor	e, Nani Daman		
Sr. No.	Survey No. Sub–Div No./ Chalta No.	Area of land acquisition in (Sq.Mtrs.)	Name of persons believed to be having interest	Class of land	Market value @ 100 Sq.Mtrs. for village Bhimpore, Nani Daman Rs. 70100/- (Agri./Jarayat Land) and N.A. Land Rs.188800/-	Multiplication Factor 2	Solatium 100% on Multiplication value of land	additional Amout @ 12%	Total compensation on land (7+8+9 = 10)
1	2	3	4	5	6	7	8	9	10
1	212/2	435.00	Manu Fakir & Jayeshbhai Kalidas	Agri.	304935.00	609870.00	609870.00	0.00	1219740.00
2	213/1	1567.00	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub- Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12- 2017.	Agri.	1098467.00	2196934.00	2196934.00	0.00	4393868.00

3	S. No.213/2	1567.00	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub- Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12- 2017.	Agri.	1098467.00	2196934.00	2196934.00	0.00	4393868.00
4	213/3	1566.00	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub- Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12- 2017.	Agri.	1097766.00	2195532.00	2195532.00	0.00	4391064.00

5	213/A-1	1567.00	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub- Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12- 2017.	Agri.	1098467.00	2196934.00	2196934.00		
· 6	213/A-2	300.00	Dayal Bhavla Patel	Agri.	210300.00	420600.00	420600.00		841200.00
7	213/A-24	1266.00	Rameshbhai Jagubhai Patel	Agri.	887466.00	1774932.00	1774932.00		3549864.00
8	213/A-3	400.00	Dayal Bhavla Patel	Agri.	280400.00	560800.00	560800.00		1121600.00
9	213/A-3A	1167.00	Rameshbhai Jagubhai Patel	Agri.	818067.00	1636134.00	1636134.00	0.00	3272268.00
10	213/B-1	1567.00	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub- Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12- 2017.	Agri.	1098467.00	2196934.00	2196934.00	0.00	4393868.00

11	213/B-2	1567.00	Shri Rameshbhai Jagubhai Patel Shri Sokat Anavar Mithani Shri Aspi Erach Damania	Agri.	1098467.00	2196934.00	2196934.00	0.00	4393868.00
12	213/B-3	1566.00	Shri Rameshbhai Jagubhai Patel Shri Sokat Anavar Mithani Shri Aspi Erach Damania	Agri.	1097766.00	2195532.00	2195532.00	0.00	4391064.00
13	210/1	479.00	Shri Chandu Dhiru Shri Amrat Dhiru,	Agri.	335779.00	671558.00	671558.00	0.00	1343116.00
14	210/2	3175.00	Shri Dayal Bhavla	N.A.	5994400.00	11988800.00	11988800.00	0.00	23977600.00
15	214/1	1334.00	Chandrakant Hiralal,Harshad Hiralal, Suresh Hiralal, Natwar Hiralal, Dipak Hiralal, Pratibhaben Ramesh, Ankur Ramesh, Nayan Ramesh	Agri.	935134.00	1870268.00	1870268.00	0.00	3740536.00
16	214/1/1	1718.00	Pratibhaben Ramesh, Ankur Ramesh, Nayan Ramesh	Agri.	1204318.00	2408636.00	2408636.00	0.00	4817272.00
17	214/1/2	1722.00	Chandrakant Hiralal	Agri.	1207122.00	2414244.00	2414244.00	0.00	4828488.00
18	214/1/3	1718.00	Suresh Hiralal	Agri.	1204318.00	2408636.00	2408636.00	0.00	4817272.00
19	214/1/4	1718.00	Natwar Hiralal	Agri.	1204318.00	2408636.00	2408636.00	0.00	4817272.00
20	214/1/5	1718.00	Harshad Hiralal	Agri.	1204318.00	2408636.00	2408636.00	0.00	4817272.00
21	214/1/6	1722.00	Dipak Hiralal	Agri.	1207122.00	2414244.00	2414244.00	0.00	4828488.00
22	211	8465.00	Chandubhai Dhedhiyabhai Patel, Amratbhai Dhedhiyabhai Patel	Agri.	5933965.00	11867930.00	11867930.00	0.00	23735860.00
23	227/1	3700.00	Dayal Bhavla	Agri.	2593700.00	5187400.00	5187400.00	0.00	10374800.00
24	228/4	45.00	Paliben Naran,Gulab Naran, Lalu Naran, Babu Naran, Ravu Naran, Manu Naran, Raman Naran, Anitaben Rameshbhai	Agri.	31545.00	63090.00	63090.00	0.00	126180.00
25	227/2	2541.00	KhalpaBhavla	Agri.	1781241.00	3562482.00	3562482.00	0.00	7124964.00
26	226	3789.00	Bhanuben Ramesh	Agri.	2656089.00	5312178.00	5312178.00	0.00	10624356.00
27	216/2	863.00	Manchha Ganda	Agri.	604963.00	1209926.00	1209926.00	0.00	2419852.00

					1		I	I	
28	216/3	700.00	Bhikhu Ganda, Shankar Ganda, Bavla Ganda, Babu Ganda, Dilip Ganda	Agri.	490700.00	981400.00	981400.00	0.00	1962800.00
29	216/4	800.00	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana Hira	Agri.	560800.00	1121600.00	1121600.00	0.00	2243200.00
30	216/5	1000.00	Paliben Ranchod, Dhiru Ranchhod,Babubhai Lallu,Shantben Gaman, Ketan Gaman, Jashodaben Dahya, Ramilaben Mohan, Vanitaben Dalichand	Agri.	701000.00	1402000.00	1402000.00	0.00	2804000.00
31	216/6	1300.00	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana Hira	Agri.	911300.00	1822600.00	1822600.00	0.00	3645200.00
32	208/2	513.00	Ashok Kevalram Khemani (HUF) Suresh Kevalram Khemani (HUF) Darshnkumar Narnbhai Patel Janki Darshanbhai Patel	N.A.	968544.00	1937088.00	1937088.00	0.00	3874176.00
33	208/3	1589.00	Shri Chandu Dhiru , Shri Amrat Dhiru	Agri.	1113889.00	2227778.00	2227778.00	0.00	4455556.00
34	214/2	1100.00	Shri Dayal Bhavla	Agri.	771100.00	1542200.00	1542200.00	0.00	3084400.00
35	216/7	3590.00	Syamsundar Agarwal	Agri.	2516590.00	5033180.00	5033180.00	0.00	10066360.00
36	215/1/1	8074.00	Shri Shantilal Hirabhai Patel, Shri Laxman Hirabhai Patel , Shri Raju Hirabhai Patel, Shri Mukesh Hirabhai Patel, Shri Mahesh Hirabhai Patel	N.A.	15243712.00	30487424.00	30487424.00	0.00	60974848.00
		67908.00			61565002.00	123130004.00	123130004.00	0.00	246260008.00

Sd/– भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

						NNEXURE - II						• • • • • • • • • • • • • • • • • • • •
		Details cor	npensation o	f land for	Developme	nt of Transpo	ort Nagar at	Village Bhimp	pore, Nani Dam	an		
Sr. No.	Survey No. Sub–Div No./ Chalta No.	Name of persons believed to be having interest	Type of trees	No. of Trees	Rate	Total	Type of structure	Total Compensati on of stucture	Compensatio n of Trees	Total Compensat ion	Solatium 100%	Total Compensation
1	2	3	4	5	6	7	8	9	10	11	12	13
1	212/2	Manu Fakir & Jayeshbhai Kalidas	Khajuri Jungli	3.00 3.00	3600.00 500.00	10800.00 1500.00	-	-	12300.00	12300.00	12300.00	24600.00
2	213/1	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.		6.00 8.00	15000.00 5000.00	90000.00 40000.00						
		3	Jungli	3.00	500.00	1500.00	-	-	131500.00	131500.00	131500.00	263000.00

		Rameshbhai Jagubhai Patel	I		1]	[]
		Other Rights: The Property									
2		under attachment by the									
1		Director Enforcement,									
		Directorate of Enforcement,									
		Ministry of Finance, Department									
		of Revenue, Sub-Zonal Office,									
		Surat vide letter									
3		No.ECIR/02/STSZO/2017/933									
		dt. 03-05-2018 &									
		OC805/2017/PMLA Adjudicating	Bambu	5.00	1000.00	5000.00					
		Authority (Under the Prevention	Neem	3.00	500.00	1500.00					
		of Money Laundering Act, 2002	Bordi	4.00	500.00	2000.00					
		New Delhi dated 28-12-2017.	Jungli	10.00	500.00	5000.00					
			Teakwood	7.00	5000.00	35000.00					
			Khajuri	12.00	3600.00	43200.00		91700.00	91700.00	91700.00	183400.00
		Rameshbhai Jagubhai Patel	3947								5
		Other Rights: The Property									
		under attachment by the									
		Director Enforcement,									
		Directorate of Enforcement,									
		Ministry of Finance, Department									l
		of Revenue, Sub-Zonal Office,									
4	213/3	Surat vide letter									1
1	210/0	No.ECIR/02/STSZO/2017/933									
		dt. 03-05-2018 &									1
		OC805/2017/PMLA Adjudicating									
		Authority (Under the Prevention									
		of Money Laundering Act, 2002	Khajuri	14.00	3600.00	50400.00					
		New Delhi dated 28-12-2017.	Jungli	8.00	500.00	4000.00					
1			Teakwood	15.00	5000.00	75000.00					
	<u> </u>		Bordi	3.00	500.00	1500.00		130900.00	130900.00	130900.00	261800.00

5	213/A-1	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	Neem	2.00 5.00 16.00 1.00 12.00	500.00 500.00 3600.00 500.00 500.00	1000.00 2500.00 57600.00 500.00 60000.00		121600.00	101000.00	101000.00	040000.00
		Dayal Bhavla Patel	Mango	7.00	15000.00	105000.00		 121000.00	121600.00	121600.00	243200.00
6	213/A-2		Khajuri	3.00	3600.00	10800.00					
			Teakwood	2.00	5000.00	10000.00		 125800.00	125800.00	125800.00	251600.00
7	213/A-24	Rameshbhai Jagubhai Patel			ļ	0.00	·····	 0.00	0.00	0.00	0.00
8	213/A-3	Dayal Bhavla Patel	Mango	15.00	15000.00	225000.00				8	
	***	**************************************	Khajuri	5.00	3600.00	18000.00		243000.00	243000.00	243000.00	486000.00
9	213/A-3A	Rameshbhai Jagubhai Patel				0.00		0.00	0.00	0.00	0.00

•		Rameshbhai Jagubhai Patel						1				
		Other Rights: The Property										
122		under attachment by the										
		Director Enforcement,										
1		Directorate of Enforcement,										
		Ministry of Finance, Department										
		of Revenue, Sub-Zonal Office,	1									
10	213/B-1	Surat vide letter										
		No.ECIR/02/STSZO/2017/933										
		dt. 03-05-2018 &										3
		OC805/2017/PMLA Adjudicating			-							
		Authority (Under the Prevention					Ì					
		of Money Laundering Act, 2002										
		New Delhi dated 28-12-2017.	20									
			· .			0.00			0.00	0.00	0.00	0.00
		Shri Rameshbhai Jagubhai										
11	213/B-2	Patel Shri Sokat Anavar Mithani										
	210/0 2	Shri Aspi Erach Damania					Compound					
			Khajuri	2.00	3600.00	7200.00	Wall	1236543.00	7200.00	1243743.00	1243743.00	2487486.00
		Shri Rameshbhai Jagubhai										
12	213/B-3	Patel Shri Sokat Anavar Mithani										
		Shri Aspi Erach Damania										
			Khajuri	2.00	3600.00		Borewell	80000.00	7200.00	87200.00	87200.00	174400.00
13	210/1		Khajuri	15.00	3600.00	54000.00	-					
	·····	Dhiru,	Jungli	11.00	500.00	5500.00			59500.00	59500.00	59500.00	119000.00
		Shri Dayal Bhavla	Coconut	20.00	30000.00	600000.00						
			Khajuri	20.00	3600.00	72000.00						
14	210/2	1	Teakwood	2.00	5000.00	10000.00						
			Mango	70.00	15000.00	1050000.00						
			Jungli	5.00	500.00	2500.00	House	130851.00	1734500.00	1865351.00	1865351.00	3730702.00

Page 35

17 214/1/2 Chandrakant Hiralal Knajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 19 214/1/4 Natwar Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 92400.0 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.	•		Chandrakant Hiralal,Harshad Hiralal, Suresh Hiralal, Natwar Hiralal, Dipak Hiralal,										
Image: Pratibhaben Ramesh, Ankur Ramesh, Nayan Ramesh, Ankur Ramesh, Nayan Ramesh Khajuri 12.00 3600.00 43200.00 Image: Product of the pail of the pai	15	214/1	the providence control of the providence of the									-	
Image: Name Pipal Novem							0.00				0.00	0.00	0.00
16 214/1/1 Inc. 1.00 500.00			the state of the s	Khajuri	12.00	3600.00	43200.00						
Mango 1.00 15000.00 15000.00 62700.00 46200.00 46			Ramesh, Nayan Ramesh	Pipal	1.00	1000.00	1000.00						6
Image: Jungi: 6.00 500.00 3000.00 62700.00 62700.00 62700.00 62700.00 125400 17 214/1/2 Chandrakant Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 46200.00 92400.00 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 46200.00 92400.00 19 214/1/3 Natwar Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 92400.00 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00	16	214/1/1		Neem	1.00	500.00	500.00						
17 214/1/2 Chandrakant Hiralal Knajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 19 214/1/4 Natwar Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 92400				Mango	1.00	15000.00	15000.00						
17 214/1/2 Jungli 6.00 500.00 300.00 46200.00 46200.00 46200.00 92400.00 18 214/1/3 Suresh Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 46200.00 92400.0 19 214/1/4 Natwar Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 92400.0 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Mango 16.00 15000.00 24000.00 46200.00				Jungli	6.00	500.00	3000.00			62700.00	62700.00	62700.00	125400.00
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	17	211/1/2	Chandrakant Hiralal	Khajuri	12.00	3600.00	43200.00						
18 214/1/3 Jungli 6.00 500.00 3000.00 46200.00 46200.00 46200.00 92400.00 19 214/1/4 Natwar Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.00 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.00 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Mango 16.00 15000.00 24000.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Patel Mango 16.00 1500.00 7000.00 Kajuri 16.00 3600.00 32600.00 366600.00		217/172								46200.00	46200.00	46200.00	92400.00
Image: constraint of the	18	214/1/3	Suresh Hiralal										
19 214/1/4 Jungli 6.00 500.00 3000.00 46200.00 46200.00 46200.00 92400.00 20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 92400.00 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.00 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.00 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Patel, Amratbhai Dhedhiyabhai Patel Mango 16.00 1500.00 7000.00 Borewell 40000.00 326600.00 366600.00 366600.00 733200.00 23 227/1 Dayal Bhavla Mango 7.00 15000.00 105000.00 House, House, House, House, House, House,		21-1110		T						46200.00	46200.00	46200.00	92400.00
20 214/1/5 Harshad Hiralal Khajuri 12.00 3600.00 48200.00	19	214/1/4	Natwar Hiralal										
20 214/1/5 Jungli 6.00 500.00 3000.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.0 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 3000.00 46200.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Mango 16.00 15000.00 240000.00 46200.00 46200.00 46200.00 92400.0 22 211 Patel, Amratbhai Dhedhiyabhai Mango 16.00 15000.00 7000.00 7000.00 7000.00 703200.00 366600.00 366600.00 366600.00 366600.00 733200.00 23 227/1 Dayal Bhavla Mango 70.00 15000.00 120000.00 House, House										46200.00	46200.00	46200.00	92400.00
21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 46200.00 92400.00 21 214/1/6 Dipak Hiralal Khajuri 12.00 3600.00 43200.00 46200.00 46200.00 46200.00 92400.00 92400.00 22 211 Chandubhai Dhedhiyabhai Mango 16.00 15000.00 240000.00 46200.00 46200.00 46200.00 92400.00 22 211 Patel, Amratbhai Dhedhiyabhai Mango 16.00 15000.00 240000.00 46200.00 46200.00 46200.00 92400.00 22 211 Patel, Amratbhai Dhedhiyabhai Mango 16.00 3600.00 57600.00 40000.00 326600.00 366600.00 366600.00 733200.00 23 227/1 Dayal Bhavla Mango 70.00 15000.00 120000.00 House,	20	214/1/5	Harshad Hiralal							(0000.00	10000.00		
21 214/1/6 Jungli 6.00 500.00 3000.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Mango 16.00 15000.00 240000.00 46200.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Mango 16.00 15000.00 7000.00 46200.00 46200.00 92400.0 22 211 Chandubhai Dhedhiyabhai Mango 16.00 3600.00 57600.00 40000.00 326600.00 366600.00 366600.00 733200.00 23 227/1 Dayal Bhavla Mango 70.00 15000.00 120000.00 House, Hou										46200.00	46200.00	46200.00	92400.00
22 211 Chandubhai Dhedhiyabhai Patel, Amratbhai Dhedhiyabhai Patel Mango 16.00 15000.00 240000.00 Amratbhai <	21	214/1/6	Dipak Hiralal							10000.00	40000.00	10000.00	00,400,00
22 211 Patel, Amratbhai Dhedhiyabhai Patel Chiku 7.00 1000.00 7000.00 Amratbhai Dhedhiyabhai Amratbhai Dhedhiyabhai Chiku 7.00 1000.00 7000.00 Amratbhai Dhedhiyabhai Amratbhai Dhedhiyabhai Khajuri 16.00 3600.00 57600.00 Borewell 40000.00 326600.00 366600.00 366600.00 733200. 23 227/1 Dayal Bhavla Mango 70.00 15000.00 120000.00 House, House, <td< td=""><td></td><td></td><td>Ohan da bhai Dhadhiushhai</td><td></td><td></td><td></td><td></td><td></td><td></td><td>46200.00</td><td>46200.00</td><td>46200.00</td><td>92400.00</td></td<>			Ohan da bhai Dhadhiushhai							46200.00	46200.00	46200.00	92400.00
22 211 Patel Khajuri 16.00 3600.00 57600.00 Borewell 40000.00 326600.00 366600.00 366600.00 733200. 23 227/1 Dayal Bhavia Mango 70.00 15000.00 1050000.00 40000.00 326600.00 366600.00 366600.00 733200. 23 227/1 Dayal Bhavia Mango 70.00 15000.00 120000.00 4.00 4.00 30000.00 120000.00 4.00													
Image: Solution of the second secon	22	211											
Dayal Bhavia Mango 70.00 15000.00 105000.00 23 227/1 Dayal Bhavia Mango 70.00 15000.00 1050000.00 Khajuri 30.00 3600.00 108000.00 House, House,				}		·····		Borewell	40000 00	326600.00	366600.00	366600.00	733200.00
23 227/1 Coconut 4.00 30000.00 120000.00 Khajuri 30.00 3600.00 108000.00 House,			Daval Bhavla		1	1		Doromon	,0000.00	020000.00	00000.00	00000.00	100200.00
Z3 Z2//1 Khajuri 30.00 3600.00 108000.00 House,			e transformet and a second										
	23	227/1						House					
Teakwood 25.00 5000.00 125000.00 Borewell 144681.00 1403000.00 1547681.00 1547681.00 3095362					25.00	5000.00	125000.00	Borewell	144681.00	1403000.00	1547681.00	1547681.00	3095362.00

24	228/4	Paliben Naran,Gulab Naran, Lalu Naran, Babu Naran, Ravu Naran, Manu Naran, Raman Naran, Anitaben Rameshbhai										
						0.00				0.00	0.00	0.00
		KhalpaBhavla	Mango	16.00	15000.00	240000.00						
25	227/2		Khajuri	9.00	3600.00	32400.00						
			Jungli	6.00	500.00	3000.00			275400.00	275400.00	275400.00	550800.00
		Bhanuben Ramesh	Mango	61.00	15000.00	915000.00						
2			Coconut	4.00	30000.00	120000.00						
26	226		Khajuri	1.00	3600.00	3600.00						
			Neem	1.00	500.00	500.00						
			Bordi	1.00	500.00	500.00			1039600.00	1039600.00	1039600.00	2079200.00
27	216/2	Manchha Ganda	Khajuri	7.00	3600.00	25200.00						
21	210/2		Jungli	4.00	500.00	2000.00			27200.00	27200.00	27200.00	54400.00
		Bhikhu Ganda, Shankar Ganda, Bavla Ganda, Babu Ganda,						4				
28	216/3	Dilip Ganda	Mango	5.00	15000.00	75000.00						
			Khajuri	20.00	3600.00	72000.00	1					
			Jungli	5.00	500.00	2500.00	Borewell	20000.00	149500.00	169500.00	169500.00	339000.00
29	216/4	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana Hira	t			5 4000 00						
			Khajuri	15.00	3600.00	54000.00						
			Coconut	4.00	30000.00	120000.00			174000.00	174000.00	174000.00	348000.00
30	216/5	Paliben Ranchod, Dhiru Ranchhod,Babubhai Lallu,Shantben Gaman, Ketan Gaman, Jashodaben Dahya,										
		Ramilaben Mohan, Vanitaben	Mango	9.00	15000.00	135000.00						
		Ulalichand	Khajuri	2.00	3600.00	7200.00						
			Jungli	2.00	500.00	1000.00			143200.00	143200.00	143200.00	286400.00
31	216/6	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana										
		Hira	Khajuri	2.00	3600.00	7200.00	I		7200.00	7200.00	7200.00	14400.00

.

. . 32

33

34

35

36

THE GAZETTE OF DNH & DD

208/2	Ashok Kevalram Khemani (HUF) Suresh Kevalram Khemani (HUF) Darshnkumar Narnbhai Patel Janki Darshanbhai Patel	Khajuri	3.00	3600.00	10800.00			10800.00	10800.00	10800.00	21600.00
	Shri Chandu Dhiru , Shri Amrat				1			10000.00	10000.00	10000.00	21000.00
	Dhiru	Chiku	1.00	1000.00	1000.00						1
208/3		Khajuri	21.00	3600.00	75600.00						
		Coconut	22.00	30000.00	660000.00	Borewell,					
		Jungli	1.00	500.00	500.00	Well	59399.00	737100.00	796499.00	796499.00	1592998.00
	Shri Dayal Bhavla	Mango	2.00	15000.00	30000.00						
214/2		Khajuri	46.00	3600.00	165600.00						
		Jungli	4.00	500.00	2000.00			197600.00	197600.00	197600.00	395200.00
	Syamsundar Agarwal	Khajuri	6.00	3600.00	21600.00						
216/7		Neem	2.00	500.00	1000.00						
		Bordi	3.00	500.00	1500.00						
		Jungli	7.00	500.00	3500.00			27600.00	27600.00	27600.00	55200.00
215/1/1	Shri Shantilal Hirabhai Patel, Shri Laxman Hirabhai Patel , Shri Raju Hirabhai Patel, Shri Mukesh Hirabhai Patel, Shri Mahesh Hirabhai Patel	Khajuri	85.00	3600.00	306000.00						
		Pipal	1.00	1000.00	1000.00						
		Jungli	15.00	500.00	7500.00			314500.00	314500.00	314500.00	629000.00
	armanna ananan anana anana anana a	Total					1711474.00	7792200.00	9503674.00	9503674.00	19007348.00

Sd/-

भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

			NEXURE - III			ana an
	Details compensation of land for	Developmer	nt of Transport Naga	ar at Village Bhimp	ore, Nani Daman	
Sr. No.	Name of persons believed to be having interest	Survey No. Sub–Div	Area of land acquisition in (Sq.Mtrs.)		Assets Value	Total
1	2	3	4	5	6	7
1	Manu Fakir & Jayeshbhai Kalidas	212/2	435.00	1219740.00	24600.00	1244340.00
2	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	213/1	1567.00	4393868.00	263000.00	4656868.00
3	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	S. No.213/2	1567.00	4393868.00	183400.00	4577268.00

4	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	213/3	1566.00	4391064.00	261800.00	4652864.00
5	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	213/A-1	1567.00	4393868.00	243200.00	4637068.00
6	Dayal Bhavla Patel	213/A-2	300.00	841200.00	251600.00	1092800.00
7	Rameshbhai Jagubhai Patel	213/A-24	1266.00	3549864.00	0.00	3549864.00
8	Dayal Bhavla Patel	213/A-3	400.00	1121600.00	486000.00	1607600.00
9	Rameshbhai Jagubhai Patel	213/A-3A	1167.00	3272268.00	0.00	3272268.00
10	Rameshbhai Jagubhai Patel Other Rights: The Property under attachment by the Director Enforcement, Directorate of Enforcement, Ministry of Finance, Department of Revenue, Sub-Zonal Office, Surat vide letter No.ECIR/02/STSZO/2017/933 dt. 03-05-2018 & OC805/2017/PMLA Adjudicating Authority (Under the Prevention of Money Laundering Act, 2002 New Delhi dated 28-12-2017.	213/B-1	1567.00	4393868.00	0.00	4393868.00

-						
11	Shri Rameshbhai Jagubhai Patel Shri Sokat Anavar Mithani Shri Aspi Erach Damania	213/B-2	1567.00	4393868.00	2487486.00	6881354.00
12	Shri Rameshbhai Jagubhai Patel Shri Sokat Anavar Mithani Shri Aspi Erach Damania	213/B-3	1566.00	4391064.00	174400.00	4565464.00
13	Shri Chandu Dhiru, Shri Amrat Dhiru,	210/1	479.00	1343116.00	119000.00	1462116.00
14	Shri Dayal Bhavla	210/2	3175.00	23977600.00	3730702.00	27708302.00
15	Chandrakant Hiralal,Harshad Hiralal, Suresh Hiralal, Natwar Hiralal, Dipak Hiralal, Pratibhaben Ramesh, Ankur Ramesh, Nayan Ramesh	214/1	1334.00	3740536.00	0.00	3740536.00
16	Pratibhaben Ramesh, Ankur Ramesh, Nayan Ramesh	214/1/1	1718.00	4817272.00	125400.00	4942672.00
17	Chandrakant Hiralal	214/1/2	1722.00	4828488.00	92400.00	4920888.00
18	Suresh Hiralal	214/1/3	1718.00	4817272.00	92400.00	4909672.00
19	Natwar Hiralal	214/1/4	1718.00	4817272.00	92400.00	4909672.00
20	Harshad Hiralal	214/1/5	1718.00	4817272.00	92400.00	4909672.00
21	Dipak Hiralal	214/1/6	1722.00	4828488.00	92400.00	4920888.00
22	Chandubhai Dhedhiyabhai Patel, Amratbhai Dhedhiyabhai Patel	211	8465.00	23735860.00	733200.00	24469060.00
23	Dayal Bhavla	227/1	3700.00	10374800.00	3095362.00	13470162.00
24	Paliben Naran,Gulab Naran, Lalu Naran, Babu Naran, Ravu Naran, Manu Naran, Raman Naran, Anitaben Rameshbhai	228/4	45.00	126180.00	0.00	126180.00
25	KhalpaBhavla	227/2	2541.00	7124964.00	550800.00	7675764.00
26	Bhanuben Ramesh	226	3789.00	10624356.00	2079200.00	12703556.00
27	Manchha Ganda	216/2	863.00	2419852.00	54400.00	2474252.00
28	Bhikhu Ganda, Shankar Ganda, Bavla Ganda, Babu Ganda, Dilip Ganda	216/3	700.00	1962800.00	339000.00	2301800.00
29	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana Hira	216/4	800.00	2243200.00	348000.00	2591200.00
30	Paliben Ranchod, Dhiru Ranchhod,Babubhai Lallu,Shantben Gaman, Ketan Gaman, Jashodaben Dahya, Ramilaben Mohan, Vanitaben Dalichand	216/5	1000.00	2804000.00	286400.00	3090400.00

SERIES - II No. 06

31	Bhikhiben Hirabhai, Gulab Hira, Chandu Hira, Amrat Hira, Bhana Hira	216/6	1300.00	3645200.00	14400.00	3659600.00
32	Ashok Kevalram Khemani (HUF) Suresh Kevalram Khemani (HUF) Darshnkumar Narnbhai Patel Janki Darshanbhai Patel	208/2	513.00	3874176.00	21600.00	3895776.00
33	Shri Chandu Dhiru , Shri Amrat Dhiru	208/3	1589.00	4455556.00	1592998.00	6048554.00
34	Shri Dayal Bhavla	214/2	1100.00	3084400.00	395200.00	3479600.00
35	Syamsundar Agarwal	216/7	3590.00	10066360.00	55200.00	10121560.00
30	Shri Shantilal Hirabhai Patel, Shri Laxman Hirabhai Patel , Shri Raju Hirabhai Patel, Shri Mukesh Hirabhai Patel, Shri Mahesh Hirabhai Patel	215/1/1	8074.00	60974848.00	629000.00	61603848.00
	Total	67908.00	246260008.00	19007348.00	265267356.00	

Sd/– भूमि अर्जन समाहर्ता, दमण Land Acquisition Collector, Daman

U.T. Administration of Dadra & Nagar Haveli and Daman & Diu, Office of the Secretary (Taxation) Secretariat, Daman – 396220.

No. DMN/VAT/ATF/2014-15/45-1/2596

Dated: 03/02/2022.

NOTIFICATION

In exercise of the powers conferred under sub-section (2) of section 4 of the Dadra and Nagar Haveli and Daman and Diu Value Added Tax Regulation, 2005 (No. 2 of 2005) the Administrator of U.T. of Dadra and Nagar Haveli and Daman and Diu hereby revises the tax rate as prescribed under the Fourth Schedule of the Dadra and Nagar Haveli and Daman and Diu Value Added Tax Regulation, 2005 (No. 2 of 2005), namely :-

Sr. No.	Name of Item	Existing Rate	Revised Rate of Tax
1	2	3	4
1.	Aviation Turbine Fuel (ATF)	20%	3%

The provisions of this notification shall take effect from the midnight of date of issue.

By order and in the name of Administrator, U.T. of Dadra and Nagar Haveli and Daman & Diu

> Sd/– (**Karanjit Vadodaria**) Joint Secretary (Taxation)
